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QUESTION 1

The current user wants to produce a list of all user privileges she has been granted. Which table or view can be queried
to produce the desired result? 

A. SYSCAT.DBAUTH 

B. SYSIBMADM.GRANTS 

C. SYSIBMADM.PRIVILEGES 

D. SYSCAT.USER_TAB_PRIVS 

Correct Answer: A 

 

 

QUESTION 2

What type of function is created using the following command? CREATE FUNCTION TAN (X DOUBLE) RETURNS
DOUBLE LANGUAGE SQL CONTAINS SQL NO EXTERNAL ACTION DETERMINISTIC RETURN SIN(X)/COS(X) 

A. Row 

B. Table 

C. Scalar 

D. External 

Correct Answer: C 

 

QUESTION 3

Which of the following SQL statements will remove all rows from the table T1? (Choose two.) 

A. DELETE FROM t1 

B. DELETE* FROM t1 

C. DELETE* TABLE t1 

D. TRUNCATE TABLE t1 IMMEDIATE 

E. TRUNCATE TABLE t1 

Correct Answer: AB 

 

QUESTION 4
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The DDL statement is used to create table T1: CREATE TABLEt1 ( 

c1 INTEGER, 

c2 INTEGER NOT NULL, 

c1 DECIMAL(11,2), 

c4 TIMESTAMP WITH DEFAULT CURRENT TIMESTAMP 

) 

Which of the following INSERT statements will execute successfully? 

A. INSERT INTO t1 VALUES (100) 

B. INSERT INTO t1 (c1, c2) VALUES (100) 

C. INSERT INTO t1 (c1, c3) VALUES (`100\\', `100.00\\') 

D. INSERT INTO t1 (c2, c3) VALUES (100, 100.00), (101, 101) 

Correct Answer: B 

 

 

QUESTION 5

Which of the following editions of DB2 include support for Federation with Oracle database? 

A. DB2 Express-C 

B. DB2 Developer Edition 

C. DB2 Enterprise Server Edition 

D. DB2 Workgroup Server Edition 

Correct Answer: C 
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